, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

o e

Explain architectural features @;f foﬁex M3 with block dlagram
Briefly describe the special Teglsters of cortex M3.
What is stack and what are the instructions to access-st

Write a short note on: 4

ooooo

i) Debuggmg support g

i) Interrupts'and exceptions supported“by cortex M3.

Explain arxthmetlc instruction set with example.
Briefly explain shift and rotate instructions with dlagrams

Explain working of following instructions :
i) CMP ii) TST 111) (CMN iv) REV.

,,,,,,,,,,

i) RISC and “JSC

6n from each module.’

4
ack?

i) Harvard archltecture and Von Neumann architecture.

Briefly explain PLDs and types of PLDs.
Write short note on :

i) Optocoupler «.
ii) COTS. %
Explain workmg of DRAM.

......

OR
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(07 Marks)
(06 Marks)
(03 Marks)

(08 Marks)

(08 Marks)

(08 Marks)
(05 Marks)
(03 Marks)

(07 Marks)
(07 Marks)

(02 Marks)
(08 Marks)

(08 Marks)

(06 Marks)

(08 Marks)
(02 Marks)
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Module-4
List and explain characteristics of an embedded syste (06 Marks)
Briefly describe any two operational and two non.op ational quality attributes. (08 Marks)

Define and classify electronic control units. (02 Marks)
Discuss fundamental issues in hardware software co- -design. o (08 Marks)
Differentiate between DFG and CDFG with example. " (04 Marks)

Explain different types of (se,rlaii interface buses deploygd in automatic embedded

application. (04 Marks)
Define process and explarn process states and states- tran51t10n diagram. (07 Marks)
Explain functionalr quirements to be analysed in selection of an RTOS. (06 Marks)
g (03 Marks)

CMRIT LIBRARY

BANGALORB - 568 037
Explam round robin scheduling tedhmque (03 Marks)

Three”f)rocess with process IDs P1, P2, P3 with estlmated completion time 10, 5, 7 ms

respectively enters ready queue fagether A new process P4 with estimated completion time
g time, turnaround time and average

2ms enters ready queue, aﬁeﬁr 2ms. Calculate wa
(10 Marks)

(03 Marks)
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